PROBLEM 7.4:
(@) vse filter coeffs: H(z)= 5+ %E—l_’r%z—z

(b) Use pesitive Fawﬂf‘ﬁ to extract peles and zeos
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PROBLEM 7.5:
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PROBLEM 7.6: v

@) Y, (2)= H(2)X(2)
Y@= H(2) Y, (2) = Ha(e) (H(2)X (@)
= (H;{E}Hltz]jf[{z)
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Hi(2) and Hz(2) are scalar funchions.
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() Hi@)= L(1+2'+27) by vsing the filter coeffs.
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(8) Cowvert to difference ebualr-‘w (i.e, filter coeffs)
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PROBLEM 7.6 (more):
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PROBLEM 7.12: v
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PROBLEM 7.14:

Hz)= 1-22%- 454
hinj= §in)- 2 §in-27 - 4 8n-4]
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PROBLEM 7.15:
x()= 4 + cos(250wt-74) - 3@5( 2000T t )
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